
Geometry Honors Mathematician: ________________________________ 
Unit 7: Relationships with Triangles Period:___________ 
7.1b Midsegments 

LEVEL: EMERGING 
Directions: In each triangle, M, N, and P are midpoints of the sides. Name the line segment that is parallel 
to the one that is given.  
 

1)   
 
 
 
 
 
 
 
 
 

𝑁𝑃̅̅ ̅̅ ∥ ______ 

2)   
 
 
 
 
 
 

 
 

 
𝐾𝐿̅̅ ̅̅ ∥ _____ 

3)   
 
 
 
 
 
 
 
 
 

𝑀𝑁̅̅ ̅̅ ̅ ∥ ______ 

4)  The lengths of the midsegments of a triangle 
have lengths of 22, 26, and 30. Which of the 
following could be the length of a side of this 
triangle? Select all that apply.  
 

(A) 11     (B) 15     (C) 44     (D) 50     (E) 60 
 

5)  The sides of a triangle have lengths of 56, 102, 
and 86. Which of the following could be the length 
of a midsegment of this triangle? Select all that 
apply.  
 

(A) 38    (B) 43     (C) 48    (D) 51     (E) 57 
 

LEVEL: PROFICIENT 
Directions: Find the length of the indicated line segment.  
 

6)   
 
 
 
 
 
 
 

 
𝑅𝑇 = ______________ 

7)   
 
 
 
 
 
 
 

𝑇𝑆 = ______________ 
 

8)   
 
 
 
 
 
 
 
 

𝐺𝐶 = ______________ 
9) Given: , 𝑂𝐶̅̅ ̅̅ ≅ 𝐶𝑆̅̅̅̅ , 𝑂𝑅̅̅ ̅̅ ≅ 𝑅𝐸̅̅ ̅̅   
 Prove: 𝐶𝑅̅̅ ̅̅  is a midsegment 
 
 

Statements Reasons 
(1) (1)  

 
(2) (2)  

 
(3) (3)  

 
(4) (4)  

 
 

 



LEVEL: MASTERY 
Directions: Find the value of 𝑥. Then find the length of the indicated segment.  
 

10)   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
𝑥 = _____________  
 
𝑈𝑉 = _____________ 

11) 𝐴𝐵̅̅ ̅̅  is a midsegment  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
𝑥 = _____________  
 
𝑈𝐴 = _______        𝐴𝑇 = _______ 
 
SUM of 𝑈𝐴 and 𝐴𝑇 = _______ 

12)   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
𝑥 = _____________  
 
𝑁𝑀 = ________   𝐹𝑁 = ________ 
 
SUM of 𝑁𝑀 and 𝐹𝑁 = _______ 

 
13)  Complete the following proportions.  
 
Given:  𝐵 𝑎𝑛𝑑 𝐺 𝑎𝑟𝑒 𝑚𝑖𝑑𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑓 𝑀𝐴̅̅ ̅̅̅ 𝑎𝑛𝑑 𝑀𝐾̅̅ ̅̅ ̅,   
 𝐺𝐵 = 6,   𝐵𝐴 = 4, 𝐾𝐺 = 10 
 
 
 
 
 
 
 
 
 
 
 

(A)   
𝐾𝐴

𝐺𝐵
=

 

            
  (B)   

𝐵𝐴

𝑀𝐴
=

 

            
 

 
 

(C)   
𝑀𝐴

𝑀𝐾
=

 

            
  (D)   

𝐺𝐵

𝐾𝐴
=

 

            
 

 
 

(E)   
𝑀𝐺

𝑀𝐾
=

 

            
  (F)   

𝐾𝐺

𝐺𝑀
=

 

            
 

14) Select all of the statements that must be 
correct.  
  
 
 
 
 
 
 
 
 
 
 

(A)   
𝐾𝐺

𝐺𝑀
=

𝐴𝐵

𝐵𝑀
 

 

(B)   
𝐾𝐴

𝐺𝐵
=

𝐴𝐵

𝐵𝑀
 

 

(C)   
𝑀𝐵

𝑀𝐴
=

𝐺𝐵

𝐾𝐴
 

 

(D)   
𝑀𝐾

𝑀𝐺
=

𝑀𝐴

𝑀𝐵
 

 
(E) Cannot be determined 


